

# Bid Tabulation Report - GORDON WATER MAIN REPLACEMENT

			Bidder No. 1		Bidder No. 2		Bidder No. 3		Bidder No. 4		Bidder No. 5	
			Peek Brothers Construction		Sierra Nevada Construction, Inc.		Aspen Developers Corp		Rapid Construction, Inc.		Spanish Springs Construction, Inc.	
Bonding Provided			Yes		Yes		Yes		Yes		Yes	
Bidder Acknowledges Receipt of Addendums			Yes		Yes		Yes		Yes		Yes	
Affadivit of Preferential Bidders Status / Bidder's Preference Certificate			Yes		Yes		Yes		Yes		Yes	
Description	Scheduled	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
	Value											
1. <b>Mobilization and Demobilization:</b> Include all front-end costs associated with bonding, insurance, temporary facilities, project schedule, submittals; and materials, labor, and equipment mobilization to the project site. Include all back-end costs associated with project and contract closeout, including demobilization from the site.	1	LS	\$65,000.00	\$65,000.00	\$40,000.00	\$40,000.00	\$62,000.00	\$62,000.00	\$161,994.10	\$161,994.10	\$28,000.00	\$28,000.00
2. <b>Furnish and Install Traffic Control:</b> Include all costs for labor, equipment, and incidentals necessary to comply with these Specifications including, but not limited to, permitting, preparation and distribution of plans, notices and reports; setup, removal and maintenance of all barricades, signs (including custom signs), channelizing devices, barrel cones, flag persons, detours, arrow boards, and message boards; temporary striping; temporary paving; temporary aggregate base; and plantmix asphalt pavement ramps. There shall be no additional payment for changes in the traffic control plan required as a result of changes in the Contractor's work method or schedule.	1	LS	\$142,000.00	\$142,000.00	\$36,010.00	\$36,010.00	\$65,000.00	\$65,000.00	\$35,000.00	\$35,000.00	\$57,091.00	\$57,091.00
3. <b>4-inch Diameter Water Main (Restrained Joint Ductile Iron Pipe with Polywrap):</b> Include all labor, equipment, and materials required to complete the installation of the water main, including, but not limited to, coordination of delivery, inspection and storage of materials; removal and disposal of existing improvements regardless of material; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all restrained joint pipe, fittings, restraints, concrete thrust blocks, and locator wires; laying and jointing pipe; flush valve assembly; pipe bedding, trench backfill and compaction; water main testing, disinfection, flushing, care and transportation of testing samples to laboratory; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	12	LF	\$130.00	\$1,560.00	\$200.00	\$2,400.00	\$350.00	\$4,200.00	\$500.00	\$6,000.00	\$174.00	\$2,088.00
4. <b>6-inch Diameter Water Main (Restrained Joint Ductile Iron Pipe with Polywrap):</b> Include all labor, equipment, and materials required to complete the installation of the water main, including, but not limited to, coordination of delivery, inspection and storage of materials; removal and disposal of existing improvements regardless of material; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all restrained joint pipe, fittings, restraints, concrete thrust blocks, and locator wires; laying and jointing pipe; flush valve assembly; pipe bedding, trench backfill and compaction; water main testing, disinfection, flushing, care and transportation of testing samples to laboratory; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	1,890	LF	\$130.00	\$245,700.00	\$150.00	\$283,500.00	\$155.00	\$292,950.00	\$140.00	\$264,600.00	\$177.00	\$334,530.00

# Bid Tabulation Report - GORDON WATER MAIN REPLACEMENT

			Bidder No. 1		Bidder No. 2		Bidder No. 3		Bidder No. 4		Bidder No. 5	
			Peek Brothers Construction		Sierra Nevada Construction, Inc.		Aspen Developers Corp		Rapid Construction, Inc.		Spanish Springs Construction, Inc.	
5. <b>8-inch Diameter Water Main (Restrained Joint Ductile Iron Pipe with Polywrap):</b> Include all labor, equipment, and materials required to complete the installation of the water main, including, but not limited to, coordination of delivery, inspection and storage of materials; removal and disposal of existing improvements regardless of material; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all restrained joint pipe, fittings, restraints, concrete thrust blocks, and locator wires; laying and jointing pipe; flush valve assembly; pipe bedding, trench backfill and compaction; water main testing, disinfection, flushing, care and transportation of testing samples to laboratory; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	2,557	LF	\$136.00	\$347,752.00	\$151.00	\$386,107.00	\$160.00	\$409,120.00	\$150.00	\$383,550.00	\$187.00	\$478,159.00
6. <b>10-inch Diameter Water Main (Restrained Joint Ductile Iron Pipe with Polywrap):</b> Include all labor, equipment, and materials required to complete the installation of the water main, including, but not limited to, coordination of delivery, inspection and storage of materials; removal and disposal of existing improvements regardless of material; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all restrained joint pipe, fittings, restraints, concrete thrust blocks, and locator wires; laying and jointing pipe; flush valve assembly; pipe bedding, trench backfill, and compaction; water main testing, disinfection, flushing, care and transportation of testing samples to laboratory; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	719	LF	\$158.00	\$113,602.00	\$190.00	\$136,610.00	\$165.00	\$118,635.00	\$170.00	\$122,230.00	\$227.00	\$163,213.00
7. <b>1" Service Reconnection:</b> Include all labor, equipment, and materials required to complete the installation of the service lines between the new water main and connection to existing service line, including, but not limited to, coordination of delivery, inspection and storage of materials; removal and disposal of existing improvements regardless of material; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all service lines, coupling (reducer if applicable), service taps, corp stops, and locator wires; abandonment of service connections to existing water main; laying and jointing pipe; pipe bedding, trench backfill and compaction; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	75	LF	\$1,610.00	\$120,750.00	\$1,500.00	\$112,500.00	\$1,200.00	\$90,000.00	\$1,600.00	\$120,000.00	\$1,150.00	\$86,250.00
8. <b>1-1/4" Service Reconnection:</b> Include all labor, equipment, and materials required to complete the installation of the service lines between the new water main and connection to existing service line, including, but not limited to, coordination of delivery, inspection and storage of materials; removal and disposal of existing improvements regardless of material; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all service lines, coupling (reducer if applicable), service taps, corp stops, and locator wires; abandonment of service connections to existing water main; laying and jointing pipe; pipe bedding, trench backfill and compaction; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	13	EA	\$1,796.00	\$23,348.00	\$1,600.00	\$20,800.00	\$1,350.00	\$17,550.00	\$2,800.00	\$36,400.00	\$1,400.00	\$18,200.00
9. <b>2" Service Reconnection:</b> Include all labor, equipment, and materials required to complete the installation of the service lines between the new water main and connection to existing service line, including, but not limited to, coordination of delivery, inspection and storage of materials; removal and disposal of existing improvements regardless of material; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all service lines, coupling (reducer if applicable), service taps, corp stops, and locator wires; abandonment of service connections to existing water main; laying and jointing pipe; pipe bedding, trench backfill and compaction; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	3	EA	\$1,945.00	\$5,835.00	\$2,000.00	\$6,000.00	\$1,800.00	\$5,400.00	\$3,500.00	\$10,500.00	\$1,500.00	\$4,500.00

# Bid Tabulation Report - GORDON WATER MAIN REPLACEMENT

			Bidder No. 1		Bidder No. 2		Bidder No. 3		Bidder No. 4		Bidder No. 5	
			Peek Brothers Construction		Sierra Nevada Construction, Inc.		Aspen Developers Corp		Rapid Construction, Inc.		Spanish Springs Construction, Inc.	
10. <b>1" Service Replacement:</b> Include all labor, equipment, and materials required to complete the installation of the service lines between the new water main and existing water meter, including, but not limited to, coordination of delivery, inspection and storage of materials; removal and disposal of existing improvements regardless of material; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all service lines, coupling (reducer if applicable), service taps, corp stops, and locator wires; connection to existing meter setters; abandonment of service connections to existing water main; laying and jointing pipe; pipe bedding, trench backfill and compaction; temporary asphalt pavement restoration; temporary asphalt, curb and sidewalk restoration; and clean-up, all in accordance with the Contract Documents.	30	EA	\$2,210.00	\$66,300.00	\$3,000.00	\$90,000.00	\$4,000.00	\$120,000.00	\$2,500.00	\$75,000.00	\$2,920.00	\$87,600.00
11. <b>1-1/4" Service Replacement:</b> Include all labor, equipment, and materials required to complete the installation of the service lines between the new water main and existing water meter, including, but not limited to, coordination of delivery, inspection and storage of materials; removal and disposal of existing improvements regardless of material; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all service lines, coupling (reducer if applicable), service taps, corp stops, and locator wires; connection to existing meter setters; abandonment of service connections to existing water main; laying and jointing pipe; pipe bedding, trench backfill and compaction; temporary asphalt pavement restoration; temporary asphalt, curb and sidewalk restoration; and clean-up, all in accordance with the Contract Documents.	5	EA	\$2,225.00	\$11,125.00	\$3,100.00	\$15,500.00	\$4,500.00	\$22,500.00	\$2,800.00	\$14,000.00	\$3,280.00	\$16,400.00
12. <b>2" Service Replacement:</b> Include all labor, equipment, and materials required to complete the installation of the service lines between the new water main and existing water meter, including, but not limited to, coordination of delivery, inspection and storage of materials; removal and disposal of existing improvements regardless of material; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all service lines, coupling (reducer if applicable), service taps, corp stops, and locator wires; connection to existing meter setters; abandonment of service connections to existing water main; laying and jointing pipe; pipe bedding, trench backfill and compaction; temporary asphalt pavement restoration; temporary asphalt, curb and sidewalk restoration; and clean-up, all in accordance with the Contract Documents.	2	EA	\$4,240.00	\$8,480.00	\$3,200.00	\$6,400.00	\$4,500.00	\$9,000.00	\$4,500.00	\$9,000.00	\$4,240.00	\$8,480.00
13. <b>6" Water Main Retirement:</b> Retire water main, including cutting of existing water main piping, providing and installing appropriate sized cap. This item includes any trenching, removal and disposal of existing improvements as needed, grout placement, cap, and all required appurtenances to retire the water line as shown on the plans, including, backfill, compaction and temporary asphalt patching as required all in accordance with the Contract Documents.	1,755	LF	\$4.40	\$7,722.00	\$8.00	\$14,040.00	\$5.00	\$8,775.00	\$8.00	\$14,040.00	\$11.00	\$19,305.00
14. <b>8" Water Main Retirement:</b> Retire water main, including cutting of existing water main piping, providing and installing appropriate sized cap. This item includes any trenching, removal and disposal of existing improvements as needed, grout placement, cap, and all required appurtenances to retire the water line as shown on the plans, including, backfill, compaction and temporary asphalt patching as required all in accordance with the Contract Documents.	934	LF	\$4.40	\$4,109.60	\$10.00	\$9,340.00	\$5.00	\$4,670.00	\$10.00	\$9,340.00	\$17.00	\$15,878.00
15. <b>Gate Valve Retirement:</b> Include all excavation; removal and disposal of existing valve box, conductor pipe and concrete collar; backfill, compaction and temporary asphalt patching as required all in accordance with the Contract Documents.	10	EA	\$877.00	\$8,770.00	\$350.00	\$3,500.00	\$600.00	\$6,000.00	\$800.00	\$8,000.00	\$750.00	\$7,500.00

# Bid Tabulation Report - GORDON WATER MAIN REPLACEMENT

			Bidder No. 1		Bidder No. 2		Bidder No. 3		Bidder No. 4		Bidder No. 5	
			Peek Brothers Construction		Sierra Nevada Construction, Inc.		Aspen Developers Corp		Rapid Construction, Inc.		Spanish Springs Construction, Inc.	
16. <b>6-inch Diameter Gate Valve:</b> Include all labor, equipment, and materials required to complete the installation of the gate valve, including, but not limited to, coordination of delivery, inspection and storage of materials; valve assembly, restraints, locate wire, conductor pipe, valve box, concrete collar, wax tape and other necessary appurtenances, all in accordance with the Contract Documents. <u>Excludes distribution tap gate valves.</u>	9	EA	\$2,371.00	\$21,339.00	\$1,900.00	\$17,100.00	\$3,000.00	\$27,000.00	\$1,800.00	\$16,200.00	\$1,950.00	\$17,550.00
17. <b>8-inch Diameter Gate Valve:</b> Include all labor, equipment, and materials required to complete the installation of the gate valve, including, but not limited to, coordination of delivery, inspection and storage of materials; valve assembly, restraints, locate wire, conductor pipe, valve box, concrete collar, wax tape and other necessary appurtenances, all in accordance with the Contract Documents. <u>Excludes distribution tap gate valves.</u>	10	EA	\$2,786.00	\$27,860.00	\$2,600.00	\$26,000.00	\$3,500.00	\$35,000.00	\$2,500.00	\$25,000.00	\$2,450.00	\$24,500.00
18. <b>10-inch Diameter Gate Valve:</b> Include all labor, equipment, and materials required to complete the installation of the gate valve, including, but not limited to, coordination of delivery, inspection and storage of materials; valve assembly, restraints, locate wire, conductor pipe, valve box, concrete collar, wax tape and other necessary appurtenances, all in accordance with the Contract Documents.	4	EA	\$3,880.00	\$15,520.00	\$3,400.00	\$13,600.00	\$4,000.00	\$16,000.00	\$3,200.00	\$12,800.00	\$3,900.00	\$15,600.00
19. <b>Combination Air Release Valve Assembly:</b> Include all labor, equipment, and materials required to complete the installation of the assembly, including, but not limited to, coordination of delivery, inspection and storage of materials; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing service lines, valves, fittings, service taps, valve box and riser, combination air valve assembly, enclosure with lid and riser, and locator wires; laying and jointing pipe; pipe bedding, trench backfill and compaction; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	3	EA	\$4,813.00	\$14,439.00	\$6,200.00	\$18,600.00	\$4,500.00	\$13,500.00	\$8,000.00	\$24,000.00	\$6,500.00	\$19,500.00
20. <b>Tracer Wire Test Station:</b> Include all labor, equipment, and materials required to complete the installation of the assembly, including, but not limited to, coordination of delivery, inspection and storage of materials; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing tracer wire, conductor pipes, conduits, cast iron valve boxes with covers marked "Test Station", concrete collars and 3-lb anodes; running tracer wire; bedding, trench backfill and compaction; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	20	EA	\$336.00	\$6,720.00	\$600.00	\$12,000.00	\$1,100.00	\$22,000.00	\$200.00	\$4,000.00	\$670.00	\$13,400.00
21. <b>2" Temporary Flush or Service Assembly:</b> Include all labor, equipment, and materials required to complete the installation of the assembly, including, but not limited to, coordination of delivery, inspection and storage of materials; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing service saddle, corporation stop, PE service line, and brass plug upon completion of flush/testing; furnishing and installing blind flange with 2" NPT center and final removal and disposal; bedding, trench backfill and compaction; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	12	EA	\$1,495.00	\$17,940.00	\$1,700.00	\$20,400.00	\$500.00	\$6,000.00	\$1,000.00	\$12,000.00	\$2,500.00	\$30,000.00
22. <b>6-Inch Distribution Tap on Existing 6-Inch Cast Iron Main:</b> Include all labor, equipment, and materials required to complete the installation of the assembly, including, but not limited to, coordination of delivery, inspection and storage of materials; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing tapping sleeve, thrust blocks, and gate valve; bedding, trench backfill compaction; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	1	EA	\$7,644.00	\$7,644.00	\$10,500.00	\$10,500.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$5,300.00	\$5,300.00

# Bid Tabulation Report - GORDON WATER MAIN REPLACEMENT

			Bidder No. 1		Bidder No. 2		Bidder No. 3		Bidder No. 4		Bidder No. 5	
			Peek Brothers Construction		Sierra Nevada Construction, Inc.		Aspen Developers Corp		Rapid Construction, Inc.		Spanish Springs Construction, Inc.	
23. <b>8-Inch Distribution Tap on Existing 14-Inch Transite Main:</b> Include all labor, equipment, and materials required to complete the installation of the assembly, including, but not limited to, coordination of delivery, inspection and storage of materials; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing tapping sleeve, thrust blocks, and gate valve; bedding, trench backfill and compaction; temporary asphalt pavement restoration; and clean-up, all in accordance with the Contract Documents.	1	EA	\$8,642.00	\$8,642.00	\$11,500.00	\$11,500.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$6,300.00	\$6,300.00
24. <b>Reconnection of Existing 6" Fire Hydrant Lateral to New Main:</b> Include all labor, equipment and materials required to complete the installation of 6" gate valve and 6" restrained joint ductile iron pipe, including but not limited to, coordination of delivery, inspection and storage of materials; trench excavation (including haul and disposal of unusable and excess excavated material); furnishing and installing all fittings, couplings, restraints, concrete thrust blocks, and locator wires; laying and joining pipe; pipe bedding, trench, backfill and compaction; temporary asphalt pavement restoration, and clean-up, all in accordance with the Contract Documents.	3	EA	\$4,736.00	\$14,208.00	\$8,200.00	\$24,600.00	\$6,000.00	\$18,000.00	\$8,500.00	\$25,500.00	\$6,050.00	\$18,150.00
<i>Bid List Items 25 through 28 are contingent items and may or may not be required or authorized. Bid List items 25 through 28 will be considered in the total bid price when selecting the best bidder pursuant to NRS 338.</i>												
25. <b>Additional Trench Excavation Depth – Per Foot of Depth, for Additional Trench Depths Which Exceed 2 feet Below the Design Profile Depth:</b> This item excludes trenching depths shown on the Design Plans and includes only those depths which exceed 2 feet below the depth shown on the Plans due to unforeseen circumstances.	100	LF	\$10.00	\$1,000.00	\$50.00	\$5,000.00	\$20.00	\$2,000.00	\$50.00	\$5,000.00	\$60.00	\$6,000.00
26. Anchor 4-inch or 6-inch valve:Anchor shall be utilized if the existing valves as noted on the plans to be abandoned are not restrained and require anchoring with the addition of harness, tie rods and concrete anchor block. This item shall include all material, labor, and time needed to install assembly, cure and cut/cap the main; excavation, backfill and compaction; temporary asphalt pavement restoration, and clean-up.	1	EA	\$500.00	\$500.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,100.00	\$1,100.00
27. <b>Rock Excavation (Reference Article 4 of the General Conditions)</b>	50	CY	\$40.00	\$2,000.00	\$50.00	\$2,500.00	\$10.00	\$500.00	\$300.00	\$15,000.00	\$32.00	\$1,600.00
28. <b>Fire hydrant Lateral Vertical Offset:</b> Include all labor, equipment and materials required to furnish and install 6-inch 45° mechanical joint fittings as required to make new service connection to existing, including, but not limited to, coordination of delivery, inspection and storage of materials, cutting ductile iron pipe and assembly.	3	EA	\$2,535.00	\$7,605.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00	\$5,000.00	\$15,000.00	\$1,750.00	\$5,250.00
<b>Total Bid Price</b>			<b>\$1,317,470.60</b>		<b>\$1,328,007.00</b>		<b>\$1,390,300.00</b>		<b>\$1,456,654.10</b>		<b>\$1,491,444.00</b>	
Total Bid Price Written in Words? y/n			Yes		Yes		Yes		Yes		Yes	
Bidder Information Provided			Yes		Yes		Yes		Yes		Yes	
Licensing Information Provided			Yes		Yes		Yes		Yes		Yes	
Disclosure of Principals Provided			Yes		Yes		Yes		Yes		Yes	
Referenced Provided			Yes		Yes		Yes		Yes		Yes	
Debarment & Safety Information Provided			Yes		Yes		Yes		Yes		Yes	
Subcontractors Listed / Self Listed			Yes		Yes		Yes		Yes		Yes	
Proposal Summary Executed			Yes		Yes		Yes		Yes		Yes	